
300

400

87
0

30
0

10
70

75

75

87
0

HANDRAIL:
STEEL TUBE,
33mm OUTSIDE  Ø

STEEL BALUSTER,
10 X 25mm @ 100mm
c/c MAX.

STEEL PLATE,
13 X 45mm

75 x 75 X 45 X 13mm
BRACKET ANCHORED TO
CONCRETE RAMP @
±600mm c/c

19

CONCRETE RAMP,
SEE STRUCTURE

C-CHANNEL,
SEE STRUCTURE

GRATING,
SEE STRUCTURE

87
0

61
0

580

300

61
0

26
0

10
70

90°

90°

HANDRAIL:
STEEL TUBE,
33mm OUTSIDE  Ø

STEEL PLATE,
13 X 45mm BOLTED TO

C-CHANNEL @
±400mm c/c

STEEL STRINGER
C 310X31,

SEE STRUCTURE

ANTISKID GRATING
TREAD

16
0

87
4

STEEL BALUSTER,
10 X 25mm @ 100mm
c/c MAX.

STEEL PLATE,
13 X 45mm .

CONCRETE BASE,
SEE STUCTURE

26
0

60°

25

60

280

±60

±6
0

GUARDRAIL:
STEEL PLATE
13 X 45mm

HANDRAIL:
STEEL TUBE,
33mm OUTSIDE  Ø

HANDRAIL SUPPORT:
STEEL BAR, 13 X 13mm
WELDED TO ANCHOR
PLATE

STEEL ANCHOR
PLATE,

PRE-DRILLED, 35 X 75
X 13mm FOR

MODULES JUNCTION
(TOP AND BOTTOM)

 BENT STEEL BAR
10 X 25mm

WELDED TO
ANCHOR PLATE

STEEL PLATE,
13 X 45mm BOLTED TO

C-CHANNEL @
±400mm c/c

STEEL STRINGER
C 310X31,

SEE STRUCTURE

ANTISKID GRATING
TREAD

STEEL BALUSTER,
10 X 25mm @ 100mm

c/c MAX.

STEEL PLATE,
13 X 45mm .

HANDRAIL:
STEEL TUBE,

33mm OUTSIDE  Ø

SEE PLAN

305

16
0 25280

GRATING,
SEE STRUCTURE

61
0

26
0

10
70

305

16
0

280

150°

99
5

10
70

75

SEE PLAN

61
0

26
0

RETURN HANDRAIL
TO GUARDRAIL

STEEL PLATE,
13 X 45mm BOLTED TO

C-CHANNEL @
±400mm c/c

STEEL STRINGER
C 310X31,

SEE STRUCTURE

ANTISKID GRATING
TREAD

GRATING,
SEE STRUCTURE

STEEL BALUSTER,
10 X 25mm @ 100mm

c/c MAX.

STEEL PLATE,
13 X 45mm .

HANDRAIL:
STEEL TUBE,

33mm OUTSIDE  Ø

25

HANDRAIL SUPPORT:
STEEL BAR, 13 X 13mm
WELDED TO ANCHOR
PLATE

STEEL ANCHOR PLATE,
PRE-DRILLED, 25 X 75 X 19mm
FOR FIXING HANDRAIL TO
RAILING

19
HANDRAIL:

STEEL TUBE,
33mm OUTSIDE  Ø

STEEL ANCHOR PLATE,
PRE-DRILLED, 25 X 75 X 19mm
FOR MODULES JUNCTION (TOP
AND BOTTOM)

19

75

STEEL BALUSTER,
10 X 25mm @ 100mm

c/c MAX.

STEEL PLATE,
13 X 45mm .

10
70 99

5
75

87
0

61
0

50

STEEL PLATE,
13 X 45mm

STEEL PLATE,
13 X 45mm BOLTED
TO C-CHANNEL @
±400mm c/c

45

STEEL
BALUSTER,
10 X 25mm @
100mm c/c MAX.

C-CHANNEL,
SEE STRUCTUREGRATING,

SEE STRUCTURE

HANDRAIL:
STEEL TUBE,

33mm OUTSIDE  Ø

HANDRAIL SUPPORT:
STEEL BAR, 13 X 13mm
WELDED TO ANCHOR
PLATE

STEEL ANCHOR PLATE,
PRE-DRILLED, 25 X 75 X 19mm
FOR FIXING HANDRAIL TO
RAILING

10
70

STEEL PLATE,
13 X 45mm

STEEL PLATE,
13 X 45mm BOLTED
TO C-CHANNEL @
±400mm c/c

45

STEEL
BALUSTER,
10 X 25mm @
100mm c/c MAX.

C-CHANNEL,
SEE STRUCTURE

GRATING,
SEE STRUCTURE10

70

±680

±1388
OPENING

97
0

10
0

23
0

GATE DOOR
GUARDRAIL

HEAVY DUTY
HINGES,
MUST OPEN
180
DEGREES80

0

12
00

GRAVITY LATCH

DROP BAR LATCH

±680
11

A-604

125125

23
0

12

3mm STEEL PLATE

HEAVY DUTY GALV.
STEEL GRAVITY
LATCH, WITH
STAINLESS STEEL
CABLE

19mm HOLE FOR
CABLE PASSAGE

STEEL PLATE,
13 X 45mm

STEEL PLATE,
13 X 45mm

STEEL BALUSTER,
10 X 25mm @ 100mm

c/c MAX.

HEAVY DUTY GALV.
STEEL DROP BAR
LATCH

50 min.

100mm HEAVY DUTY
GALV. STEEL GATE HOOK

TO KEEP DOOR IN OPEN
POSITION. PROVIDE

EYELET. (PRECISE
LOCATION TO BE

DETERMINED ON SITE).

PWGSC - A1 - 841X594

Public Works and

Canada

REAL PROPERTY SERVICES

Government Services

NOT FOR CONSTRUCTION

PRELIMINARY

Canada

Services gouvernementaux

Travaux publics et

Western Region

OF

100mm9080706050403020100

Description Date

Drawn by

Approved by

Designed by

Drawing title

Client

Project title

SERVICES IMMOBILIERS

Revision

Région de l'ouest

PWGSC Project Manager

client

Projet

Dessiné par

Administrateur de Projets TPSGC

Conçu par

Titre du dessin

Approuvé par

Drawing no./No. du dessin

Revision no.

Project no./No. du projet

Architects Architectes

1435, SAINT-ALEXANDRE STREET, SUITE 1000
MONTREAL (QUEBEC)  H3A 2G4
T. 514-393-9490 F. 514-393-9498
info@evoqarchitecture.com

Engineers Ingénieurs

SNC-Lavalin inc.

455, René-Lévesque Blvd. West

Montreal (Quebec) H2Z 1Z3 Canada

Telephone: (514) 393-8000

www.snclavalin.com

Infrastructure Engineering

Eastern Canada

Indigenous and Northen

Affairs Canada

Public Works and Government 

Services Canada

NEW IQALUIT DAYCARE

AR, RG

AR, KD, EL, HS

AF

Russell Knister

9214-17-00

42

EXTERIOR STAIRS, RAMP & TERRACE

A-604 0

9214-17-00_A-602-603_ExteriorStairs.dwg

24

1
A-6041:10

RAMP JUNCTION (BASE)
DETAIL SECTION

4
A-6041:10

STAIRS - TYPICAL JUNCTION (BASE)
DETAIL SECTION

2
A-6041:10

STAIRS - TYPICAL JUNCTION (TOP) TYPE 1
DETAIL SECTION

3
A-6041:10

STAIRS - TYPICAL JUNCTION (TOP) TYPE 2
DETAIL SECTION

5
A-6041:10

TERRACE - GUARDRAIL
DETAIL SECTION

6
A-6041:10

STAIRS - GUARDRAIL
DETAIL SECTION

7
A-6041:5

GUARDRAIL MODULES CORNER JUNCTION
DETAIL PLAN

8
A-6041:10

HANDRAIL ANCHORING 
DETAIL SECTION

9
A-6041:10

GUARDRAIL MODULES JUNCTION
DETAIL SECTION

10
A-6041:20

TERRACE GATE DOOR
ELEVATION

11
A-6041:10

TERRACE GATE DOOR LATCH
ELEVATION

1

AutoCAD SHX Text
0

AutoCAD SHX Text
ISSUED FOR TENDER

AutoCAD SHX Text
2018-03-16

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
2018/04/11

AutoCAD SHX Text
ADDENDUM NO 1


	Feuilles et vues
	A1_A-604


